
Page 1

SR.
NO.

PARTICULARS MAKE 
DISCOUNT 
OFFER ON 
PRICE LIST

MAKE
DISCOUNT 
OFFER ON 
PRICE LIST

MAKE
DISCOUNT 
OFFER ON 
PRICE LIST

MAKE
DISCOUNT 
OFFER ON 
PRICE LIST

REMARKS

1 ALL TYPE DRAWER LOCK EUROPA GODREJ RAJEN

2 ALL TYPE DOOR HINGES SS CANVAS POLO

3 ALL TYPE DRAWER CHANNEL BOSCH HETTICH  CNR

4 BOX HINGES ENOX HETTICH CNR

5 ALL TYPE ALDROP SS ENOX

6 FLOOR SPRING ENOX DRONA

7 ALL TYPE PLYWOOD 
ANCHOR-
MARINE-
710,BWP

TRAJAN 
MARINE-
710,BWP

CENTURY-
MARINE-
710,BWP

8 ALL TYPE LAMINATE GREENLAM NEWMIKA
ROYAL 
TOUCH

9 FLUSH DOOR 30MM
PINEWOOD -

100%
GARJAN

FACE

10 BTC PATTI 1ST NO 1X 1/2"

11 BTC PATTI 1ST NO 1X 3/4"

12 BTC PATTI 1ST NO 1X 1 1/2"

SR.N. NAME OF ITEMS UOM
REQUIRED 

QTY.

1
BRASS ALDROP 300mm X 
16mm

NOS 200

2
BRASS ALDROP 300mm X 
14mm

NOS 200

3
BRASS ALDROP 250mm X 
16mm

NOS 200

4 BRASS ALDROP 250mm X14mm NOS 200

5 BRASS TADI 250mm X 14mm NOS 200

6 BRASS TADI 250mm X 12mm NOS 200

7 BRASS HINGES 3 X ½ X ¾ NOS 200

8 CROME PLATED ALDROP 12" NOS 200

9 CROME PLATED ALDROP 10" NOS 200

ITEM LIST : HARDWARE MATERIAL

ITEM GROUP :-  HARDWARE  MATERIAL (LIST ATTACHMENT AS PER REQUIREMENT)

NOTE : Kindly refer to the attached list of average consumption details of the material required for one year.



Page 2
SR.N. NAME OF ITEMS UOM

REQUIRED 
QTY.

10 CROME PLATED TADI 10" NOS 200

11
CROME PLATED TOWER BOLT 
4"

NOS 200

12
CROME PLATED TOWER BOLT 
6"

NOS 200

13
CROME PLATED TOWER BOLT 
8"

NOS 200

14 CROME PLATED HANDLE 6" NOS 200

15 S.S. ALDROP 12" MATT (IZEC) NOS 200

16 S.S. ALDROP 10" MATT (IZEC) NOS 200

17 S.S. TADI 12" MATT (IZEC) NOS 200

18 S.S. TADI 10" MATT (IZEC) NOS 200

19 S.S. TOWER BOLT 6" (IZEC) NOS 200

20 S.S. HANDLE 6" (IZEC) NOS 200

21 S.S. DOOR KIT 8" (IZEC) NOS 200

22 DOOR HANDLE 8" SSF INNOVA NOS 200

23 DOOR HANDLE 8" SSF NOS 200

24 POWDER COATED HANDLE 4" NOS 200

25 POWDER COATED HANDLE 6" NOS 200

26 HANDLE D MATT 4" SSF NOS 200

27 THUMB KNOB SSF NOS 200

28 AMERICAN HANDLE NOS 200

29
ALU. TOWER BOLT 6" SSF 
(VINAY)

NOS 200

30
ALU. TOWER BOLT 8" SSF 
(VINAY)

NOS 200

31
ALU. TOWER BOLT 10" SSF 
(VINAY)

NOS 200

32
ALU. TOWER BOLT 12" SSF 
(VINAY)

NOS 200

33 DOOR STOPPER SSF NOS 200

34 CRC BUT HINGES 4" (NOVA) NOS 200

35 CRC BUT HINGES 5" (NOVA) NOS 200

36 BEARING HINGES 4" SSF NOS 200

37 BEARING HINGES 5" SSF NOS 200

38 S.S. HINGES 4" NOS 200

39 S.S. PREMIUM HINGES 4" NOS 200

40 S.S. PREMIUM HINGES 5" NOS 200



Page 3
SR.N. NAME OF ITEMS UOM

REQUIRED 
QTY.

41 BOX HINGES FULL OVERLAY PAIR 200

42 BOX HINGES HALF OVERLAY PAIR 200

43 BOX HINGES INSERT NOS 200

44 GATE HINGES 3 PIECE 25MM NOS 200

45 DRAWER LOCK RAJEN NOS 200

46 DRAWER LOCK GODREJ NOS 200

47 MULTIPLE DRAWER LOCK NOS 200

48 PAD LOCK 65mm NOS 200

49 PAD LOCK 50mm NOS 200

50 PAD LOCK 40mm NOS 200

51 STEEL CUPBOARD LOCK HEAVY NOS 200

52
STEEL CUPBOARD LOCK 
MEDIUM

NOS 200

53 GODREJ CUPBOARD LOCK NOS 200

54 CUPBOARD LOCK SMALL NOS 200

55 CUPBOARD LOCK BIG NOS 200

56 ULTRA VERTIBOLT 1CK GODREJ NOS 200

57 ULTRA VERTIBOLT 2C GODREJ NOS 200

58
CYLINDRICAL LOCK DIMPLE 
KEY (EUROPA)

NOS 200

59 STAR KEY LOCK NOS 200

60 DOOR CLOSER  HEAVY NOS 200

61
DOOR CLOSER MEDIUM 
(IMAGE)

NOS 200

62 DOOR CLOSER  Light NOS 200

63 CONSEAL DOOR CLOSER NOS 200

64 FLOOR SPRING NOS 200

65 NYLON SOCKET (NEMANI) NOS 200

66
CURTAIN CENTER SUPPORT 
NYLON 1" (NEMANI)

NOS 200

67 PIPE S.S 1" NOS 200

68 NYLON RING (EZEE) NOS 200

69
NYLON GRIP BOX HEAVY 
(NEMANI)

NOS 200

70 NYLON GRIP BOX LIGHT (DYLO) NOS 200

71 ANCHOR FASTNER 3" X 8MM NOS 200



Page 4
SR.N. NAME OF ITEMS UOM

REQUIRED 
QTY.

72 ANCHOR FASTNER 3" x 10mm NOS 200

73 ANCHOR FASTNER 4" x 10mm NOS 200

74 ANCHOR FASTNER 6" X 10MM NOS 200

75 ANCHOR FASTNER 3" x 12mm NOS 200

76 ANCHOR FASTNER 4" x 12mm NOS 200

77 ANCHOR FASTNER 5" X 16mm NOS 200

78 MACHINE SCREW 3/16 X ¾ " Pkt 50

79 MACHINE SCREW 3/16 X 1" Pkt 50

80 MACHINE SCREW 3/16 X 1 ½ " Pkt 50

81 MACHINE SCREW 3/16 X 2" Pkt 50

82 MACHINE SCREW 3/16 X 2 ½" Pkt 50

83 WOODEN SCREW 20X5 Pkt 50

84 WOODEN SCREW 25X7 Pkt 50

85 WOODEN SCREW 25X8 Pkt 50

86 WOODEN SCREW 30X8 Pkt 50

87 WOODEN SCREW 35x8 Pkt 50

88 WOODEN SCREW 35X9 Pkt 50

89 WOODEN SCREW 50X8 Pkt 50

90 WOODEN SCREW 60X8 Pkt 50

91 WOODEN SCREW 60X10 Pkt 50

92 WOODEN SCREW 60X12 Pkt 50

93 WOODEN SCREW 75X8 Pkt 50

94 WOODEN SCREW 75X10 Pkt 50

95 WOODEN SCREW 100X10 Pkt 50

96 WOODEN SCREW 100X12 Pkt 50

97 SHEET METAL SCREW 13X4 Pkt 50

98 SHEET METAL SCREW 13X6 Pkt 50

99 SHEET METAL SCREW 13X8 Pkt 50

100 SHEET METAL SCREW 16X8 Pkt 50

101 SHEET METAL SCREW 19X6  Pkt 50

102 SHEET METAL SCREW 19X8 Pkt 50



Page 5
SR.N. NAME OF ITEMS UOM

REQUIRED 
QTY.

103
SHEET METAL SCREW 19X10 
PAN (500)

Pkt 50

104 SHEET METAL SCREW 25X6 Pkt 50

105 SHEET METAL SCREW 25X8 Pkt 50

106 SHEET METAL SCREW 32X8 Pkt 50

107
SHEET METAL SCREW 32X10 
PAN (250)

Pkt 50

108 SHEET METAL SCREW 38X6 Pkt 50

109 SHEET METAL SCREW 38X8 Pkt 50

110 SHEET METAL SCREW 75X8 Pkt 50

111 FOUR WAY SCREW 13x8 CSK Pkt 50

112 FOUR WAY SCREW 25x8 CSK Pkt 50

113 FOUR WAY SCREW 38x8 CSK Pkt 50

114
FOUR WAY SCREW 1" 
(HANDLE)

Pkt 50

115 SCREW 32X8 SS Pkt 50

116 SCREW 25X8 SS Pkt 50

117 SCREW 25X6 SS Pkt 50

118 SCREW 19X6 SS Pkt 50

119 SCREW 25X4 CSK Pkt 50

120
FOUR WAY SCREW 19X6 
BLACK (1000 NOS)

NOS 2000

121
FOUR WAY SCREW 25X6 
BLACK (1000 NOS)

NOS 2000

122
FOUR WAY SCREW 50X6 
BLACK (200 NOS)

NOS 2000

123
MIRROR SCREW 13X8 
REGULAR

NOS 2000

124
MIRROR SCREW 25X8 
REGULAR

NOS 2000

125
MIRROR SCREW 50X8 
REGULAR

NOS 2000

126 MIRROR SCREW 1/2" HEAVY NOS 2000

127 MIRROR SCREW 3/4" HEAVY NOS 2000

128 MIRROR SCREW 1" HEAVY NOS 2000

129 MIRROR SCREW 11/2" HEAVY NOS 2000

130 MIRROR SCREW 2" HEAVY NOS 2000

131 MIRROR SCREW 3" HEAVY NOS 2000

132 SELF TAPPING SCREW 1" NOS 2000

133 SELF TAPPING SCREW 1 1/2" NOS 2000



Page 6
SR.N. NAME OF ITEMS UOM

REQUIRED 
QTY.

134 SELF TAPPING SCREW 2" NOS 2000

135 SELF TAPPING SCREW 2 1/2" NOS 2000

136 SELF TAPPING SCREW 3" NOS 2000

137 SELF TAPPING SCREW 1" RX NOS 2000

138
SELF TAPPING SCREW NO.55 
RX

NOS 2000

139 NUT BOLT ALDROP NOS 2000

140 NUT BOLT ALDROP CP NOS 2000

141
TELESCOPIC CHANNEL 10" 
(ZINC PREMIUM)

Pair 50

142
TELESCOPIC CHANNEL 12" 
(ZINC PREMIUM)

Pair 50

143
TELESCOPIC CHANNEL 14" 
(ZINC PREMIUM)

Pair 50

144
TELESCOPIC CHANNEL 16" 
(ZINC PREMIUM)

Pair 50

145
TELESCOPIC CHANNEL 18" 
(ZINC PREMIUM)

Pair 50

146
TELESCOPIC CHANNEL 20" 
(ZINC PREMIUM)

Pair 50

147
TELESCOPIC CHANNEL 22" 
(ZINC PREMIUM)

Pair 50

148
TELESCOPIC CHANNEL 24" 
(ZINC PREMIUM)

Pair 50

149
TELESCOPIC CHANNEL 26" 
(ZINC PREMIUM)

Pair 50

150 KEYBOARD DRAWER CHANNEL NOS 50

151 ABRO TAPE NOS 50

152 Sq. BRACKET 2X12mm NOS 50

153 Sq. BRACKET 2X8mm NOS 50

154 ARALDITE 1.8 KG NOS 50

155
PLYWOOD (ALTERNATE) 
18MM (MARIEGOLD)

NOS 50

156
PLYWOOD (ALTERNATE) 
12MM (MARIEGOLD)

NOS 50

157
PLYWOOD (ALTERNATE) 8MM 
(MARIEGOLD)

NOS 50

158
PLYWOOD (ALTERNATE) 6MM 
(MARIEGOLD)

NOS 50

159
BLOCK BOARD HARDWOOD 
(MEDIUM) 19MM 

NOS 50

160 BTC 1 X 1/4 1ST NOS 50

161 BTC 1 X 1/2 1ST NOS 50

162 BTC 1 1/2 X 1/4 1ST NOS 50

163 BTC 1 1/2 X 1/2 1ST NOS 50

164 BTC 2 X 1/4 1ST NOS 50



Page 7
SR.N. NAME OF ITEMS UOM

REQUIRED 
QTY.

165 BTC 2 X 1/2 1ST NOS 50

166 FLUSH DOOR HARDWOOD NOS 50

167 FLUSH DOOR PINEWOOD NOS 50

168 FIBER DOOR NOS 50

169 FEVI KWICK 20ML NOS 50

170 FEVICOL SH NOS 50

171 ALL TYPE NAILS NOS 50

172
PANNEL PINS 17 NO. (1PKT = 
2.5KG)

NOS 50

173
PANNEL PINS 19 NO. (1PKT = 
2.5KG)

NOS 50

174 MOCHI NAILS NOS 50

175 CONCRETE NAILS NOS 50

176
DOOR MAGNET 
(MEESHA/ANCHOR)

NOS 50

177
WALL HANGER KHUNTI 6 
HOOKS

NOS 50

178 GARDEN PIPE BRAIDED 1" NOS 50

179 GARDEN PIPE BRAIDED 3/4" NOS 50

180 BANGADI PIPE GREEN 11/2" NOS 50

181 BANGADI PIPE GREEN 2" NOS 50

182 BANGADI PIPE GREEN 4" NOS 50

183 BANGADI PIPE GREY 2" NOS 50

184 BANGADI PIPE GREY 21/2" NOS 50

185 BANGADI PIPE GREY 3" NOS 50

186 BANGADI PIPE WHITE 2" NOS 50

187
TARPAULINE (PLASTIC SHEET) 
TRANSPERANT

NOS 50

188
TARPAULIN LIGHT (PLASTIC 
SHEET ROLL)

NOS 50

189 TARPAULIN HEAVY NOS 50

190 CUTTING WHEEL 4" NOS 50

191 CHAIR BALL CASTOR NYLON NOS 50

192 CHAIR BALL CASTOR RUBBER NOS 50

193 TROLLEY WHEEL 3" (MACROLL) NOS 50

194 TROLLEY WHEEL 4" (MACROLL) NOS 50

195 TROLLEY WHEEL 5" (MACROLL) NOS 50



Page 8
SR.N. NAME OF ITEMS UOM

REQUIRED 
QTY.

196 TROLLEY WHEEL 6" (MACROLL) NOS 50

197 WELDING ROD (MANGALAM) NOS 50

198
CONCRETE DRILL BIT 8MM 
5/16

NOS 50

199 CONCRETE DRILL BIT 6MM 1/4 NOS 50

200
CONCRETE DRILL BIT 5MM 
3/16

NOS 50

201
CONCRETE DRILL BIT 4MM 
5/32

NOS 50

202 MS DRILL BIT 9/64 NOS 50

203 MS DRILL BIT 3MM 1/8 NOS 50

204 MS DRILL BIT 4MM 5/32 NOS 50

205 MS DRILL BIT 5MM 3/16 NOS 50

206 MS DRILL BIT 6MM 1/4 NOS 50

207 MS DRILL BIT 8MM 5/16 NOS 50

208 HAMMER BIT 5MM 3/16 NOS 50

209 ALU. LOUERS 8 BLADE NOS 50

210
RUBBER BUSH 11/2" X 11/2" 
SQUARE

NOS 50

211 RUBBER BUSH 3/4" ROUND NOS 50

212 RUBBER BUSH 1" SQUARE NOS 50

213 RUBBER BUSH 1" ROUND NOS 50

214 RUBBER BUSH 11/4" ROUND NOS 50

215 MS NUTBOLT NOS 50

216 NETLON MOSQUITO NETTING NOS 50

217 MOSQUITO NETTING BLACK NOS 50

218 WELCRO PATTI NOS 50

219 GLASS LAMBI NOS 50

220
CURTAIN CENTER SUPPORT 
NYLON 1" (NEMANI)

NOS 50

221 GREEN NET 10' X 150' NOS 50

222 GREEN NET ROPE NOS 50

223
TILE SOLUTION RED ACID 
HARD (5ltr) Can

NOS 50

224 DRAINAGE CLEANER NOS 50

225 WHITE CEMENT 50 KG (LOOSE) NOS 50

226 M-SEAL 1KG NOS 50



Page 9
SR.N. NAME OF ITEMS UOM

REQUIRED 
QTY.

227 MS GATE ALDROP 10" NOS 50

228 SOAP DISH SS NOS 50

229 TOWEL RING SSF NOS 50

230 TILE GROUT NOS 50

231 SILICON SEALANT NOS 50

232 DRAINAGE CLEANER POWDER PKT 50

233 ANCHOR BOLT 8MM-2.5" NOS 50

234 ANCHOR BOLT 10MM-2.5" NOS 50

235 ANCHOR BOLT 12MM-2.5" NOS 50

236 ANCHOR BOLT 8MM-3" NOS 50

237 ANCHOR BOLT 10MM-3" NOS 50

238 ANCHOR BOLT 12MM-3" NOS 50


